
(/sd ? xhf/df_
n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] cGTodf cl3Nnf] q}dfl;ssf] 
cGTodf

cl3Nnf] cf=j=sf] 
;DalGwt q}dfl;ssf] 

cGTodf

1 >f]t -!=! b]lv !=$ ;Dd_ 5,313,309   5,146,445  4,238,674     

1=1 r'Qmf k"FhL     257,096     257,096       257,096 
1=2 hu]8f tyf sf]if      41,531      41,367        37,341 
1=3 hLjg aLdf sf]if    5,014,683    4,847,982      3,944,238 
1=4 ltg{ afFsL bL3{sflng C0f tyf ;fk6L        -          -            -   
2 pkof]u -@=! b]lv @=^ ;Dd_     5,313,309    5,146,445      4,238,674 

2=1 l:y/ ;DkQL -v'b_      43,095      40,144        25,263 
2=2 bL3{sflng nufgL tyf sh{f    3,605,587    2,799,655      2,399,725 
2=3 aLdfn]vsf] lwtf]df shf{     207,510     178,465        95,389 
2=4 v'b rfn' ;DkQL -#-$_    1,437,139    2,108,202      1,710,162 
2=5 ckn]vg jf ;dfof]hg x'g jf+sL ljljw vr{x?      19,979      19,979         8,136 
2=6 gfkmf gf]S;fg lx;fajf6 ;f/]sf] gf]S;fg

v'b rfn' ;DkQLsf laa/0f  
rfn' ;DkQLsf] ljj/0f

3 Rffn' ;DkQL shf{ tyf k]ZsLx? -#=! b]lv #=# ;Dd_     1,798,142     2,462,036      1,876,984 

3=1 gub tyf a}+s df}Hbft      67,841      43,285        161,026 
3=2 cNksflng nufgL    1,528,190    2,272,753      1,631,471 
3=3 cGo ;DkQL     202,111     145,998       84,488 
4 rfn' bfloTj tyf Joj:Yffx ? -$=! b]lv $=$ ;Dd_      361,003      353,834       166,821 

4=1 rfn' bfloTj     184,423      179,726        75,833 
4=2 c;dfKt hf]lvd jfkt Joj:yf     123,593      123,593        43,339 
4=3 e'QmfgL x'g afFsL bfjL afkt Joj:yf      48,106      45,634        36,485 
4=4 cGo Aoj:yf      4,881       4,881        11,165 

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

cf=j=2067÷068 sf] k|yd q}dfl;s -c;f]h d;fGt ;Dd_ ljlQo ljj/)f

jf;nft



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] cGTodf cl3Nnf] q}dfl;ssf] 
cGTodf

cl3Nnf] cf=j=sf] 
;DalGwt q}dfl;ssf] 

cGTodf

1 cfDbfgL -!=! b]lv !=% ;Dd_        3,359      30,994        7,149 

1=1 cfo Joo lx;faaf6 ;f/]sf]         -        19,366       4,847 
1=2 hLjg aLdf sf]ifaf6 ;f/]sf]         -           -           -   

1=3 nufgL shf{ tyf cGoaf6 cfo       3,359      11,628        2,301 
1=4 Joj:yf lkmtf{        -          -           -   
1=5 cGo cfDbfgL -ljj/0f v'nfpg]_        -          -           -   

2 vr{ -@=! b]lv @=* ;Dd_        3,196       15,310        1,880 

2=1 Joj:yfkg vr{      2,859      10,061        1,313 
2=2 ckn]vg vr{        -         3,969         292 
2=3 cGo vr{x?        -          -           -   
2=4 gf]S;fgLsf] nflu Joj:yf        -          -           -   
2=5 sd{rf/L cfjf; Aoj:yf        -          -           -   
2=6 sd{rf/L af]g; Joj:yf        -          -           -   
2=7 cfos/        337       1,280         274 
2=8 hLjg aLdf sf]ifdf ;f/]sf]        -          -           -   
3 v"b gfkmf ÷-gf]S;fg_ -!–@_         163       15,684        5,269 

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

gfkmf gf]S;fg lx;fa

cf=j=2067÷068 sf] k|yd q}dfl;s -c;f]h d;fGt ;Dd_ ljlQo ljj/)f



n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf]

qm=;+= ljj/0f o; q}dfl;ssf] cGTodf cl3Nnf] q}dfl;ssf] 
cGTodf

cl3Nnf] cf=j=sf] 
;DalGwt q}dfl;ssf] 

cGTodf

1 cfo -!=! b]lv !=& ;Dd_      478,223     1,615,763      269,486 

1=1 aLdfz'Ns -v"b_     250,710    1,196,699      174,129 
1=2 k'gaL{df sldzg cfo       7,201      35,434        4,668 
1=3 nufgL, shf{ tyf cGoaf6 cfo       62,062      247,166        67,313 
1=4 aLdfn]vsf] lwtf]df shf{af6 cfo        472       7,870        2,160 
1=5 cGo k|ToIf cfo       1,056       3,821         716 
1=6 q}dfl;ssf] z'?sf] e'QmfgL x'g afFsL bfjL afkt      33,129      37,547       8,450 
1=7 q}dfl;ssf] z'?sf] c;dfKt hf]]lvd afkt Joj:yf     123,593      87,225       12,050 
2 Joo -@=! b]lv @=!) ;Dd_      311,522      622,507       179,974 

2=1 bfjL e'QmfgL -v'b_     100,726     259,648       56,307 
2=2 clestf{ sldzg      16,645      73,145       21,625 
2=3 :jf:Yo k/LIf0f z'Ns         239         957          137 

2=4 k'gaL{df sldzg vr{        -          -           -   
2=5 ;]jf z'Ns -v'b_       2,795      12,963        2,764 
2=6 cGo k|ToIf vr{        -          -           -   
2=7 Joj:yfkg vr{      25,729      90,552       17,732 
2=8 cfos/       6,193      28,520        8,143 
2=9 q}dfl;ssf] cGTodf e'QmfgL x'g afFsL bfjL afkt      35,601      33,129       27,377 
2=10 q}dfl;ssf] cGTodf c;dfKt hf]lvd afkt Joj:yf     123,593      123,593      45,888 
3 art -!-@_      166,701      993,256       89,512 
3=1 hLjg aLdf sf]ifdf ;f/]sf] art
3=2 gfkmf gf]S;fg lx;fadf ;f/]sf] art        -        19,366       4,847 

n]vfk/LIf)f gePsf] n]vfk/LIf)f gePsf] n]vfk/LIf)f ePsf]

qm=;+= ljj/0f o; q}dfl;ssf] cGTodf cl3Nnf] q}dfl;ssf]   
cGTodf

cl3Nnf] cf=j=sf] 
;DalGwt q}dfl;ssf] 

cGTodf

1 aLdfz'Ns cfh{g -s'n_     279,514    1,296,329       193,301 
2 s"n sfod /x]sf] aLdfn]vsf] ;+Vof      153,322      148,374       118,576 

3 3f]lift d"gfkmf -af]g;_ sf] b/ - @)^).)#.#@ ;Dd         52         52          52 
4 cGtl/d d"gfkmf -af]g;_ sf] b/ -====== b]lv ===== ;Dd_
5 s"nbfjL e'QmfgL /sd 106,611.80  286,670.49 71,667.62     
6 s"nbfjL e'QmfgL /sd ;+Vofdf 929      5,218     1,305       
7 e'QmfgL x'g afFsL bfjL /sd 48,106.01  45,633.90   36,485.11     

cGo ljj/)f

>L Gf]zgn nfO{km OG:of]/]G; s+= ln=

Plss[t cfo Aoo lx;fa 

cf=j=2067÷068 sf] k|yd q}dfl;s -c;f]h d;fGt ;Dd_ ljlQo ljj/)f


